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Commutative Property Matching Worksheet 
Draw a line to match the equivalent operations. 

 

56 + 19 = 75 
 
 
1512 = 56  x 9 x 3 
 
 
k + 36 
 
 
1064 = 56 x 19 
 
 
a + 6 
 
 
47 + 8 + 58 = 113 
 
 
 
18 x 7 = 126 
 
 
23 + 17 
 
 
47 x 19 x 8 = 7144 
 
 
14x + 9 
 
 
47 +  12  + 26  = 85 
 

6 + a 
 
 
17 + 23 
 
 
9 + 14x 
 
 
75 = 19 + 56 
 
 
85 = 26 + 47 + 12 
 
 
7144 = 19 x 8 x 47 
 
 
 
19 x 56 = 1064 
 
 
9  x   3   x  56   = 1512 
 
 
58  +  47  + 8  = 113 
 
 
126 = 7 x 18 
 
 
36 + k 


